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4 identical structures needs painting. How The pool is filled with water at a rate of

many tins of paint are needed to cover the 5 litres per second. Will the pool fill wheel will make an the journey round.

erucfures? Each tin of paint covers 3my \ completely in 10 hours? / \ /
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A bike wheel has a diameter of 570mm.
Calculate how many complete revolutions a bike
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covered with seed. A
box of grass seed 19¢em . .
6.7m costs £2.99 and lscm
covers 8m”. Work out
T 73m the cost of covering ' o B

\ the sard?" / \ A tin of varnish covers 0.8m? and costs £4.99 /
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